After finishing reading the novel, | ———- the book correctly on the
shelf.

a.replaced b. defended c. covered d. attracted

In a natural process, nitrogen is ———-into nitrates in the soil which
plants can then use.

a.magnified b. visited c¢. consumed d. converted

As the number of population increases, power plants should ———-
more fossil fuels to generate electricity.

a. consider b. endanger c. consume d. expand

They have greatly——- the size and cost of most electronic
products, while at the same time increasing their power and quality.

a.reduced b. developed c. generated d. labeled
| see China as a necessary part of a growing new———- economy.

a.global b. renewable c. suitable d. common

The concert was a———- to raise money for a young boy who had to

have an expensive operation.
a.benefit b. choice  c. course d. ceremony

He believes that eating———- food reduces one's chances of
developing certain types of cancer.




a.organic b. renewable c. ordinary d. junk

This article teaches how you can permanently lose your weight by—
——- the carbohydrates.

a.reducing b. absorbing c. increasing d. tasting

Some writers’ memories make you so———- of them that you wish
you knew them personally.

a.magic b. shiny c. fond d. invisible

The market economy means peaceful———- and peaceful exchange
of goods and services.

a.activity b. suggestion C. cooperation d. manner

The———- of these three experiments suggest that there are many
ways to feed young horses.

a.guidelines b. differences c. results d. panels

Contracts are made for an initial € years, ———- up to an additional &-

year period.
a.countless b. global c. renewable d. suitable

Last week a satellite weighing ¥ tons was successfully——- in
orbit.

a. revolved b. heated c. placed d. generated




The makers of the car claim that hybrid cars use up to 0% less———
- than other similar cars.

a. fuel b. heat c. pollution d. power

Scientists are looking for a which will produce energy
without polluting the air.

a. fuel b. gadget c. panel d. variety
Wind turbines are used to———- electricity for the local community.
a. generate b. consume c. power d. form

Researchers are looking at ways of———- power using the action of
the ocean's tides.

a.saving b. pumping c. orbiting  d. generating

Fish is a key——- of omega ¥ oils which have health benefits
particularly for the heart.

a.alternative b. center c. absence d. source

We can start by reducing our energy consumption and turning to——
—- resources.

a.separate b. portable c.remote d.renewable

If you are serious about———-, you should eat less junk food and

more vegetables so your body can stay in shape.




a.diet b. blood pressure c. addiction d. fitness

We are constantly———- about the dangers, but at the end of the day
it depends on parents to be sure about the safety of their children.

a.searching b. considering c. expressing d. warning

You might love sheep or cow meat but you'll find that a / an ———-
meal is easier to digest.

a.fast food b. veggie c. strong d. junk food

She needs to have an emergency operation on her———- eyes to
save her because she has been blind as a result of a heavy accident.

a.power b. sight c. hearing d. life

Because they are mostly Muslim, Egyptians do not———- alcoholic
drinks.

a.like b. consume c. absorb d. deliver

You should wear something light-colored when you're cycling at

night so that you're more ————.
a.shiny b. visible c. loving d. fantastic

His family are convinced the drug was the cause of the depression
which———- his death.

a.led to b. gave off c. worked out d. figured out




My little sister is coming home after 1Y years and has been saying
that———- all through her trip back.

a. there's no place like home b. out of sign, out of mind

birds of a feather flock together d. absence makes the heart
grow fonder

It seems reasonable to———- that people’s behavior is influenced by
what they see on TV.

a.conclude b. demand c. allow d. protect

Decisions could be made on the———- of price, delivery dates, after-
sales service.

a.basis b. expression c. term d. type

The first analysis is based on all £¥¢& patients, whereas a number of

patients after two months was to less than Yoo,

a.applied b. concluded c. reduced d. generated




